Shanghai WERCHINA industry Co., Ltd

catalogue

INtrOdUCt ON-=-m oo oo 3
Chapter 1 HOW 10 US@----m==nmmmmmmme e e oo e e 4
1.1 Power SECUFtY =======s=s==n=smmmemememm e me e oo - -4
1.2 Handling Precautions-------------------------- mmmemmememmmemeeeeeeeeeeeeeeeeeee 4
1.3 installation location and use of Environmental Considerations-------------- -5
1.4 Ink display and precautions------=-======s=sosmeoeomnenoe e cme oo e cecne oo ee 5
chapter 2 describes the machine and preparation before printing ---------------- 6
2.1 machine assembly ---------------m-mmomomemee- mm e 6
2.2 key board Introduction=----=-=-=-===s==eoeommemmemm e e 10
2.3 Installation of print carfier ---------=-=-===m=mmmmmm oo m=mmmemene- 10

2.3.3 Nozzle and print carrier distanCer -------=-=-===-m-m=mmmmmm oo 11
2.4 Ink Installation / Use Precautions e 12
2.5 Epson DX5 head installation and wiring methods ----14
2.6 Epson DX7 head installation and wiring methods ---15
2.7 Double head installation and wiring methods ----------------=------------- 17
2.8 ink sequence desCription-----==========m=mmmmm oo -17
Chapter Il Operating INStruCtioNS-=-==============mmmm oo 20
3.1 Turning---=-=-=-=-=s=smsmememememememeoeaenaee e 20
3.2 calibration tool Usage--------------=----------- = 20
3.2.1 single head machine calibration toOl-----------==--=-mmemmmeme oo 20
3.2. Double Headed machine calibration tool------------------------- m-mmmmeeees 23
3.4 Menu Functions ------------=-=-==-=-m-mmemmmmmo mmmemem e eeeeeeeeeeeeee 29
3.4.1 print orientation Setting----=-=-=-=======s=smmmn oo e 30
3.4.2 Print speed setting------------------------ mememem e eeeeeeeeeeeae 30
3.4.3 Print head type setting-------=-=-===snsememmme oo 30
3.4.4 Cleaning intervals setting -------------- mmm e ---30
3.4.5 MOde SetliNg--==n===mmmmmmmm e oo 31
3.4.6 Concentration Set -----=-=seememmmm e e 31
3.4.7 Suction intensity settings----- mem e e e 31
3.4.8 Paper strength setting---------=-=-=-======e-cmmmeemeoeem e me e mmm=mmmeeeee 31
3.4.9 heat setting------=-=-=======mcmsemme oo oo - -32
3.4.10 scraping head position setting------------=-=-====-=-=----- 32
3.4.11 inkjet location setting----------=-========mmmmmmmm oo m=mmmmeee- 32
3.4.12 ink absorption POSitiON--=-==========mmmm oo -33

3.4.13 cleaning dynamic-------------=-=---------- e e e 33



javascript:void(0);

Shanghai WERCHINA industry Co., Ltd

Chapter 3 Software Installation T -=-=-=======mmmm e 34
Setting 4.1 MainTop installation and printer setting-------------=-=-=-=-=-==-mmuoo- 34
4.2 computer USB installation and testing------------------------- - 37
Chapter 5 Maintenance Matters i ----------------=------=-m------ --41
5.1 wrong code and descCription -------=-=-====mmmm oo -41
5.3 Warranty ------------mmm oo oo -42
5.3.1 Waarranty------ - mm oo oo oo o o e e 42
5.3.2 Product Warranty Policy ------------------- e m-mmmmmeee- 42
5.3.3 Warranty SCOPE--------n=mnmmmm oo oo o oo 42
5.3.4 warranty card overleaf Schedule--------==mmmmm e 42
Chapter 6f common faults and solutionS------==========mmmmmm oo 43
Attachment: warranty card-------------======mmmm oo R 13
Piezoelectric eco solvent printer card (customer-linking)------- --------45
Piezoelectric eco solvent printer card stub (dealers retained) -------------------- 45



Shanghai WERCHINA industry Co., Ltd

Introduction

Dear customer Thank you for purchasing and using our products. Please be
sure to carefully read this manual before using the product, it can help you
quickly understand and skillfully to using the product.

The specification can effectively help you solve the problem in the installation
and use of the process encountered, be sure to take good care of and placed
in place which you can easy find for future use.

This eco solvent printer is a electromechanical integration equipment, both
sophisticated institutional structure, there arcomplex electronic circuitry. There
are sophisticated institutional print head , In the process of moving and using
to move slightly to avoid collision and vibration To ensure that the work site
and has no obvious dust around the machine clean, avoid to touch on the dust
in the air. Part of the circuit are important, CPU, memory, and other sensitive
electronic devices. Boot must be connected to ground to avoid electrostatic
causing other breakdown. This equipment cannot be used in damp
environment.

Your methods of operation and maintenance in the course of maintenance
directly determines the machine life machine's daily work. So remind you again
that youmust read these instructions carefully, according to théequirements of the
operation, maintenance, repair. Normal delivery delay, make you lose
customers, bring some unnecessary loss and trouble, so, at ordinary times
must strengthen our equipment maintenance and maintenance, familiar with
all kinds of failure diagnosis and maintenance measures that should be done,
when protection ahead of time, that it doesn't at a critical moment hurry-scurry.



Shanghai WERCHINA industry Co., Ltd

Chapter 1 How to use

1.1 Power Safety

A, Power: a one-way exchange of 50Hz 220V AC (x10%). Machine maximum
power: 2200W, printing power: 100W.

B, only use the power type in the printer's label logo. According to different
countries and regions may choose 110V or 220V AC power.

C, connect all the equipment to a properly grounded outlet to avoid the socket
used with the device (such as copiers, air-conditioning systems) in the same
loop between those frequent switching on and off.

D, avoid using by wall switches or automatic timers to control the outlet.

E, will be away from your computer system potential sources of
electromagnetic interference, such as: speakers or wireless phone holder.

F, do not use a damaged or broken power lines.

G, if you use an additional power cord, make sure the total amperage power
cord is inserted into the additional equipment do not exceed the amperage of
the power supply, in addition, keep in mind the total ampere of all devices
plugged into the wall of the number should not exceed the rated wall outlet
amperage.

H, do not try to repair the machine by yourself, please contact the technician
which in charge of the eco solvent printer repair.

I, for safety of man and machine, be sure to take a good ground, specific
requirements have installed staff informed.

J, can not plug or unplug the power cord and printer cable, otherwise it will
cause damage to the motherboard.

1.2 Handling Precautions

A, always use the power switch to turn off the machine. (le pictures of the right
side of the rear power switch) in front of the machine power is not cut off,
Please don't take photo electrical source plug or unplug other related cable.

B, please do not hand tools or other items placed on the machine and print
platform or cover, so as not to run the cleanup before the machine is not timely
and unnecessary losses.

C, before moving machine, make sure your car has been fixed at the beginning
of the print making position.

D, printing picture, be sure to use the jam is (anti-fins), to prevent deviation of
the paper, shaving heads.

E, Must be guarded when machine work. (There should be a full-time operator).
F, grating bars should always check to see if cleaning and damage, if the
application of a cotton swab dipped in alcohol dirty clean it.

G, rail should always check to see if clean; 1-2 months is recommended to be
applied butter (or parts lubricants, etc.) above the rail, reducing friction slider.



Shanghai WERCHINA industry Co., Ltd

H, the service station to be checked regularly cleaning work.

I, do not let the nozzle away from the service station long-term exposure to air.
Under J, abnormal shutdown state; Do not manually pull the car quickly, you
should turn it automatically back positions.

K, regular maintenance of the machine, reducing the impact of dust, ink, etc. of
the machine

L, Note: The machine must be connected to the ground; when the air is dry,
static electricity can not be ignored when using certain adhesive and light
piece of media, multi-band electrostatic charge (especially in the working
paper feeding speed quickly); electrostatic charge can cause damage to the
machine and card security, take the ground wire is the only way to electrostatic
discharge due to the human body itself is a huge static power, so in the live
action Motou ensure that your hands have been discharged (contact or wear a
grounded metal body In addition to static wrist strap), otherwise easily lead to
the board and nozzle damage.

1.3 installation location and use of Environmental Considerations

A, set the photo machine placed on level, stable and larger than the plane
photo machine. If the photo machine is tilted or angled, the machine may not
be working properly

B, around the pictorial plane leaving enough space to ensure proper ventilation
photo machine.

C, the photo is placed near a wall outlet to plug easily accessible place.

D, avoid using pictures of the dramatic changes in temperature and humidity
prone areas. Avoid printer by the sun, glare or direct heat sources.

E, photo machine temperature: 18-26 °C ; Humidity: 38% -65%. To make the
machine can be run in the best condition, configure air conditioning and
hygrometer in the room.

F, the machine must be away from strong interference radiation.

1.4 Ink display and precautions

A, set the ink bottle is placed out of reach of children, do not let children drink
or touch the ink cartridges.

B, if the ink stick to the skin, wash with soap and water. If the ink is splashed
into the eyes, immediately rinse with water.

C, do not shake the ink cartridge to avoid ink leakage.

D, ink bottle, after a period of use (usually two months), you should take off
thoroughly cleaned and dried. Replace with a new ink bottle should pay
attention to clean, to ensure print quality.

E, the ink should be stored in a cool place, away from direct sunlight.

The second chapter describes the machine and preparations before printing
2.1 machine assembly



Shanghai WERCHINA industry Co., Ltd

Turn the machine on the box, take out the inside of the machine parts were
assembled as shown
below:

FEAERE

5

Part Name:

(1), (2) the left and right feet (3), (4) about the legs of iron (5), (6) the bar (7) (8)
(16) (17) fixed to the support plate (9) the ink bottle pallet (10) to close the
paper feed motor module (11) to close the paper module (12) feed the left side
of the module (13) feed the right side of the module (14), (15) retractable paper
tube (18), (19), (20), (21) incorporated into the paper expansion module (22)
(23) dried fixing piece (24) dried filter
Foot mounting:

1. (1) (2) installed in the left foot (3) (4) around the iron foot end, and with (the
hex bolts 8-M5X10) fixed. Note: The direction of the arrow lock. (Note: casters
with brakes installed around the foot with hexagonal bolts 8-M5X10 fixed), as

shown:
G (v ;ﬁ) { ﬁ
iff’________ / B
\
v v
g (B 1) L AR (B 2)




Shanghai WERCHINA industry Co., Ltd

1.About 1 foot and leg iron around after installation, and then (5) (6) rod
mounted between them and with (hex bolts 4-M5X10), fixed, as
shown:

1. (7), (8), (16), (17) supports a fixed plate and around the iron legs, feet or
so (with the hex bolts 6-M5X10,4-M4X6) fixed, as
shown:

1 first expansion module incorporated into the paper into (14), (15) tubes, and
then with the left and right ends of the support member fixed plate (with hex



Shanghai WERCHINA industry Co., Ltd

bolts 4-M6X25) fixed, as

shown:
1 first assembled (10) to close the paper feed motor module and (11) the
collection of paper were placed in the module (15) on the tubes, then put
the paper has been placed in revenue expansion module (with Ruled
handle 2-M5X25) fixed to the support member around, as

MSHEEEF

ﬂ “" ~— BGHLTF
shown:

First assembled (12), (13) were placed in the feed module (14) on the left and
right ends of tubes, then put the paper has been placed in revenue expansion
module



Shanghai WERCHINA industry Co., Ltd

1. Firstly let assembled collection paper feed motor module (10) and the
collection of paper (11) were placed in the module (15) on the tubes, then put
the paper has been placed in revenue expansion module (with Ruled handle
2-M5X25) fixed to the support member around, as

MSHEEEF

ﬂ “" ~— BGHLTF
shown:

2. Put together (12) and (13) into the module respectively in the paper (14) on
both ends of aluminum tube, and then to collect has been put into paper
expansion components (2 - M5X25) with straight grain handle fixed on the



Shanghai WERCHINA industry Co., Ltd

bracket parts, as

BEARAR AL

shown:

1. After installing the above steps, you can install the fuselage in leg frame,
then on the round hole location and ( with a socket head bolts 4 - M5X10) fixed
well (in the direction of the arrow shown), as shown in figure:




Shanghai WERCHINA industry Co., Ltd

2.2 Keypad introduction

W HEm
Bishi FHWH
RS TR ENS ik,
FERA TR S T
ERHESTESBHIE, ERNGB FEERNDE,
EXHRESTHRONA T ERERATEENE
. ERHESTRRITEONG,
; ERETALLM AR KR
k% 55
ETEHEET
BEW. EEANATRE ! FR AR TR

1. Left/right direction keypad: Toward left/right moving the trolley in offline
mode, look through the project in menu mode.

2. Up/down direction keypad: Print carrier in offline mode, increase or
decrease the itemsé number in menu mode.

3. Cancel button in offline status is canceled. In the condition of print is
cancelled, in the case of the menu is to return to the last level menu.

4. Menu confirm button and enter the menu

2.3 The installation of print carrier

Before the installation note: you can use a scroll carrier. To ensure that the
paper will straight load without tilt. Please note that carrier to parallel to mesa.
Be sure to load from behind. If the carrier roll printing edge wrinkling or
damaged, please cut off the damaged part before sent to scroll to avoid
printing carrier blocked in the machine.



Shanghai WERCHINA industry Co., Ltd

—“:I: =

B e S

Please install the print carrier prior to being on the right side in front of pictures
of the platen roller handle lift. Let the pinch rollers to leave the table. Then
follow the steps on the reel body figure 1,2,3 loaded, and then secure it. After
the reel carrier insert table, it needs to be tightened to ensure that the parallel
carrier and countertops. Then the print carrier tension and press down
pressure rollers.

2.3.1 The distance between nozzle and printing carrier

According to the thickness of the different print carrier, may adjust the
height of the nozzle seat. Ideal spacing between the nozzle and the print
carrier is 1.5mm. Can be appropriately adjusted according to the flatness
of print carrier to avoid nozzle from the print carrier grazed above, destroy
the screen effect. But the maximum distance should not exceed 1.8mm.
Adjustment method is: the left and right side of the nozzle holder and loose
four screws above trolley back, adjust the top two M4X8 Ruled handle
screws, so you can move up and down the height of the car;



Shanghai WERCHINA industry Co., Ltd

After a suitable height adjustment, and then tightening around the nozzle
holder and four screws above the trolley back side. As shown:

2.4 Ink installation/use matters attention

1, set the ink out of the reach of children.

2, if the ink splashed into the eyes, flush immediately with plenty of water.
3, cleaning ink tube use cleaning fluid piping with a random distribution.
4, the ink is recommended to use the ambient temperature 18 N -28 N .
5, set the ink is placed in a cool place, stored at room temperature
environment, avoiding high temperature, low temperature and sun drying.
6, after opening the ink bottle please use asap, it is not suitable for long-term
storage.

7, if found ink icing phenomenon at low temperature, and place it after its
re-dissolved at room temperature for several hours, then re-using.

8, if the ink on your hands or clothes, wash as soon as possible.

9, do not try to resolve cartridges.



Shanghai WERCHINA industry Co., Ltd

10, the ink is a chemical products, empty bottles after use, scrap and waste ink
cartridges you handled properly to avoid environmental pollution. Please clean
the ink tubing before installing by using cleaning fluid together with machine.
11, when you install the ink, please try not to Stubbs ink sac, in order to reduce
its losses, only the specified ink machines, please do not mix with other brands
type of ink to use.

12, do not shake the bottle when you add ink, adding ink when the machine
stops printing, adding ink speed should be slowly to avoid air bubbles. Put the
ink into the cartridge holder, the ink tube is color-coded according to the above
sequence inserted into the inkwell rehearsal screw on the lid, in the use of the
machine configuration will suck the ink out and into ink sac, as shown:




Shanghai WERCHINA industry Co., Ltd

N\
o

Note:

1, when the machine is working, do not twist the ink bottle cap too tighten;
while the machine is working, the ink of ink bottle will reduce, screwing the ink
bottle too tighten will lead to the air pressure decrease,will suck the ink of ink
sac back to ink bottle.

2, when the ink sucked from ink sac, please use the appropriate intensity of
slow inhalation, avoid damage to the ink sac



Shanghai WERCHINA industry Co., Ltd

2.5 dx5 print head installation and wiring methods

|

Side of print Front of print

Each spray nozzle has eight holes, each hole has a special column of ink
nozzles into the ink. Each nozzle has two plug nozzle flat line interface, as
shown:




Shanghai WERCHINA industry Co., Ltd

Sprinkler trolley board has four flat data cQQANa number of each line is the
same, all 15-pin, with a number of points, sprinkler car plate above is based on
the number of data lines to be used, as shown below:

JeH RS 28 4

B. Check the remaining free space on the C drive computer, raster image
processing due to take up a lot of disk space as a place of temporary files, and
therefore, if the available space on the hard disk exhausted and unable to do
RIP, can also cause printing stop, in general, each graphic file the required
temporary file size is usually 3-4 times the original file size, so sharply drawn
before making inkjet work necessary to check whether enough disk space.

C. Regularly defragment the hard disk file, eliminating disk fragmentation.
Although sometimes hard disk space is also sufficient for normal printing job,
but often can not be successfully carried out, mainly due to temporary files



Shanghai WERCHINA industry Co., Ltd

must be stored in contiguous space in the hard disk, if the file on your hard
drive or disk fragmentation will make the biggest excessive fragmentation
continuous use of the available space is not enough, in addition, the following
operations Defrag.

Ast a+bo —> Ap+»®cesso —+too0l ohiattachment
fDiskeeperd generally, just tidy the disk C.
D. Because too many unnecessary applications is opened, the system
resources are depleted, resulting in normal contact with the photo
machine computer is damaged may cause printing to stop, so before
making a substantial inkjet painting work, it is recommended to run after
you restart Windows systems RIP software for printing work.

2.6 dx7 print head installation and wiring methods

Different from dx5 head, there are two 35P wiring outlet nozzle, line,
there are upper and lower logo, press Up, Down identify and correctly
accessing sprinkler line (Note: the nozzle,if up/down or left/right in
negative direction, then will lead to the nozzle burned, causing
incalculable damage), board the trolley corresponding four 17P sockets,
press the corresponding number or the right of access to the adapter
plate 17P sockets. When the nozzle is installed, the socket on the left. As
shown in the following figure:




Shanghai WERCHINA industry Co., Ltd

2.7 Installation and wiring method of double nozzle

Double nozzle with a single nozzle installation method is similar to a nozzle is
increased on the basis of the original single nozzle.

Wiring a corresponding increase in a group, just know how to install and wire a
single head machine, double and machine installation is very easy to grasp.
Installation and wiring and the lower figure.

Please pay special attention to the correspondence between the socket and
wiring.



